BP ID: 120152

MONTAGEANLEITUNG

HALTERUNG FUR FUKUDA SUPER UNIT UND

FUKUDA SUPER UNIT MIT GASMODUL

ASSEMBLY INSTRUCTION

BRACKET FOR FUKUDA SUPER UNIT AND
FUKUDA SUPER UNIT WITH GAS MODULE

WARNHINWEISE A\
Uberpriifen Sie das Gewicht des zu befestigenden ME-Gerates. Die zulssige
Gewichtsbelastung finden Sie auf dem entsprechenden Produktdatenblatt.

Nichtbeachtung dieser Vorschrift kann zu Gerateschéden oder Verletzung
von Personen fiihren.

Die CIM med GmbH iibernimmt keine Haftung fiir Schaden, die durch nicht
fachgerechte Montage entstanden sind.

Verdnderungen am Produkt, Demontage einzelner Komponenten, Montage
bzw. Zusammenbau der Einzelteile in anderer Form als nachfolgend be-
schrieben, sind nur nach ausdriicklicher und schriftlich erteilter Genehmi-
gung durch die Konstruktionsabteilung der CIM med GmbH zuléssig. Fiir
Schéden, die durch nicht genehmigte Produktédnderungen entstehen, tiber-
nimmt die CIM med GmbH keine Haftung.

Die weiterfiihrende Gebrauchsanweisung und der Inspektionsplan sind fiir
Endanwender bestimmt.

WARNING A\
Please check the weight of the ME equipment to be mounted. The permissible
total weight is mentioned on the corresponding data sheet.

Failure to follow these warnings may result in damage to equipment or
injury to people.

CIM med GmbH cannot be held responsible for any damage due to poor
installation.

Product modifications, disassembling and reassembling and/or mounting
any of the components in any other way than described below are permitted
only after written approval by the CIM med GmbH construction and
engineering department. CIM med GmbH cannot be held responsible for
any damage or injury caused by product modifications and/ or amendments
without prior permission from CIM med GmbH.

The additional instructions for use and the inspection plan are intended
for end users.

CIM med GmbH e Euro-Industriepark ® Margot-Kalinke-Str. 9 ® 80939 Munich e Germany

www.cim-med.com -1-



HALTERUNG FUR FUKUDA SUPER UNIT BRACKET FOR FUKUDA SUPER UNIT
HALTERUNG FUR FUKUDA SUPER UNIT MIT GASMODUL BRACKET FOR FUKUDA SUPER UNIT WITH GAS MODULE

LIEFERUMFANG SCOPE OF DELIVERY

'&NJ] HALTERUNG FUR FUKUDA SUPER UNIT BN HALTERUNG FUR FUKUDA SUPER UNIT MIT GASMODUL
BRACKET FOR FUKUDA SUPER UNIT BRACKET FOR FUKUDA SUPER UNIT WITH GAS MODULE

www.cim-med.com



HALTERUNG FUR FUKUDA SUPER UNIT
HALTERUNG FUR FUKUDA SUPER UNIT MIT GASMODUL

MONTAGESCHRITTE

BRACKET FOR FUKUDA SUPER UNIT

BRACKET FOR FUKUDA SUPER UNIT WITH GAS MODULE

ASSEMBLY STEPS

Montieren Sie die Halterung fiir Fukuda Super
Unit mit den (4) M4x12 Linsenkopfschrauben
und den (4) Kontaktscheiben wie dargestellt am
Tragarm.

/\ ACHTUNG

Fir eine sichere Komponentenerdung ist die
Verwendung der (4) Kontaktscheiben zwingend
erforderlich.

Befestigen Sie den Kabelhaken mit Hilfe der (2)
M4x10 Linsenkopfschrauben, den (2) Kontakt-
scheiben und den (2) M4 Hutmuttern.

Fixieren Sie das ME-Gerat mit den (3) M3x6
Senkkopfschrauben.

Mount the bracket for Fukuda super unit to the the
support arm as shown using the (4) M4x12 pan
head screws and the (4) contact wheels.

/\ WARNING
To guarantee a secure components grounding it is
essential to use the (4) contact wheels.

Attach the cable hook using the (2) M4x10 pan
head screws, the (2) contact wheels and the (2)
M4 cap nuts.

Use the (3) M3x6 counter-sunk screws to fix the
ME equipment.

www.cim-med.com

2024_DE_EN

y Instruction Bracket Fukuda Super Unit

120208_03_Assembl



